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93. Which among the following changes were 

made in the Constituent Assembly by the 

Indian Independence Act, 1947? 

1. The constituent assembly was made a 

fully sovereign body. 

2. The constituent body was given the 

function of enacting ordinary laws for 

the country. 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2  

(d) Neither 1 nor 2 

94. Which of the following statements is/are 

correct with regard to Citizenship in India? 

1. Only a citizen by birth is eligible to hold 

the office of the President. 

2. When an Indian citizen voluntarily 

acquires the citizenship of other country, 

his/her Indian citizenship automatically 

gets terminated. 

3. If a foreign territory becomes a part of 

India, all the people of that territory 

automatically become citizens of India. 

Select the correct answer using the code 

given below. 

(a) 1 and 3 only 

(b) 2 only 

(c) 1 and 2 only 

(d) 2 and 3 only 

95. With reference to artificial Bionic leaf which 

of the statement given below is/are correct? 

1. It uses solar power to split water and 

make liquid fuel. 

2. It uses hydrogen-eating bacteria to make 

liquid fuel. 

Select the correct answer using code given 

below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

96. Which of the following statements is/are 

correct? 

1. The term 'federation' has not been used 

in the Constitution. 

2. The federal system was adopted in India 

owing to the large size of the country 

and the socio-cultural diversity. 

3. Flexibility of the Constitution is a 

federal feature of the Constitution. 

Select the correct answer using the code 

given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 2 only 

(d) 1, 2 and 3 

97. With reference to Nuclear Suppliers Group 

(NSG), consider the following statements: 

1. It seek to prevent nuclear proliferation 

by controlling nuclear and nuclear-

related exports. 

2. India is a member of NSG. 

Which of the statements given above is/are 

correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

98. In which of the following cases was the 

principle of "Basic Structure Doctrine" used 

by the Supreme Court to strike down the 

provisions of Constitutional Amendment 

Acts? 

1. Kesavananda Bharati vs State of Kerala 

2. Minerva Mills vs Union of India 

3. Supreme Court Advocates-on-Record - 

Association and another vs Union of 

India, 2015 

4. Golaknath vs State of Punjab 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2, 3 and 4 
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